Virginia High School League District Competition, 2000-01 season

Match #12


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the District level by Shawn Pickrell. These questions are to be used by individual Districts to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
A member of the Fabian Society, he left after quarreling with its leaders. His later life was devoted to non-fiction works such as the two-volume The Outline of History. Who is this writer that first achieved prominence with late 19th century science fiction works such as The War of the Worlds, The Invisible Man and The Time Machine?

ANSWER: H.G. WELLS
2.
THIS IS A COMPUTATION QUESTION. A salesman visits 100 houses an hour in an eleven-hour day. Assuming he has a 4% response rate, and makes $20 in commission per sale, how much does he make that day?

ANSWER: $880
3.
A Philadelphia heiress, Florence Foerderer, who was 3 ½ feet tall, has left $7 million to this Washington, DC, university that also deals with disabilities. What is this university, founded to educate the deaf?

ANSWER: GALLAUDET University

4.
In an IPO, this is the person or company who agrees to buy any unsold shares. What is the name given to this person or company, which also guarantees payment on insurance policies if the insured events occur?

ANSWER: UNDERWRITER

First period (continued)

5.
Neurons of the basal ganglia no longer secrete dopamine, causing a lack of muscle tone and an inability to control movement. This central nervous system disorder that causes no intellect loss, but causes the hands to shake and facial expressions to be lost. What is this disease whose most famous sufferer is Mohammad Ali?

ANSWER: PARKINSON’S disease

6.
Its composer said he wanted a cross between Bizet’s Carmen and Wagner’s Die Meistersinger. When it opened in 1934, several people were offended by the stereotypical presentation of Black life on the sordid streets of Catfish Row. However, audiences have come to appreciate what opera by George Gershwin, which includes the songs “It Ain’t Necessarily So”, “I Got Plenty of Nothing” and “Summertime?”

ANSWER: PORGY AND BESS
7.
The Albigensian Crusade didn’t occur in France, but occurred instead in what country where the St. Bartholemew’s Day Massacre brought an end to the heresy of the Huguenots? 

ANSWER: FRANCE 

8.
What is the process of transporting a solvent through a semi-permeable membrane between two solutions of different concentration, from the concentrated solution to the dilute solution?

ANSWER: OSMOSIS
9.
Juliette, Justine, Crimes of Passion and The 120 Nights of Sodom are all novels written by what French nobleman who is probably best remembered for the sexual practice that bears his name?

ANSWER: Marquis de SADE (accept Comte de Sade, his actual title)

10.
THIS IS A COMPUTATION QUESTION. A three-inch square has its sides doubled. What is the ratio of the area of the new square to the area of the old square?

ANSWER: 4 TO 1
First period (continued)

11.
What is the name given to the collection of sea-bottom dwelling arthropods that lived between the Cambrian and Permian periods, and received their name from the fact that its body was divided into three parts?

ANSWER: TRILOBITES
12.
This word is used in England to describe important sporting matches between rival teams. Over in the US, it is used to describe one of several annual horse races, especially involving three-year-olds. What is this word that also describes a felt hat with a round crown and a narrow, curved brim?

ANSWER: DERBY
13.
THIS IS A COMPUTATION QUESTION. A man burns 2,200 calories per day and averages about 500 calories burned per day through vigorous exercise. If he eats 2,000 calories per day, how many days will it take to lose a pound, remembering that it takes 3,500 calories to lose (or gain) a pound?

ANSWER: FIVE days (there is a deficit of 700 calories per day)

14.
Despite having 700 wives and 300 concubines, he only had one son, Rehoboam, who promptly caused the kingdom to split into two parts, Israel and Judah. His 40-year reign as king was noted for its splendor, including a visit from the Queen of Sheba, possibly romantic, but probably diplomatic or trade-oriented. Who is this king of Israel, known for his wisdom? 

ANSWER: SOLOMON 

15.
Several states border two other states. Only one state, however, borders one and only one other state. What is this state, located in the northeastern corner of the US? 

ANSWER: MAINE 

Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
THIS IS A COMPUTATION QUESTION. What is the equation 3X – 4Y = 15 in slope-intercept form?

ANSWER: Y = ¾ X – 15/4 (Y equals three-quarters X minus fifteen-fourths, accept equivalents)

1B.
He was executed on Christmas Day in 1989, a major turning point in the Eastern European revolution. Who is this former dictator of Romania?

ANSWER: Nicolae CEAUCESCU 

2A.
What Greek god was not born in the traditional manner, but sprung instead from the head of Zeus, fully-grown? 

ANSWER: ATHENA or MINERVA 

2B.
What English portrait artist is best known for his painting, “The Blue Boy?”

ANSWER: Thomas GAINESBOROUGH

3A.
What is the name given to a military unit with long spears and overlapping shields, such as those led by Alexander the Great?

ANSWER: PHALANX
3B.
THIS IS A COMPUTATION QUESTION. What is the area in square inches of an isosceles triangle with legs of 4 inches and a base of 2 inches?

ANSWER: SQUARE ROOT OF FIFTEEN
4A.
What element has the highest melting point of all elements, and it thus used in light bulb filaments?

ANSWER: TUNGSTEN
Second period (continued)

4B.
What Ursula Le Guin novel takes place on a planet called Gethen, or Winter, which is inhabited by beings which can change their gender once a month?

ANSWER: The LEFT HAND OF DARKNESS
5A.
What is the following sentence expressed in the conditional tense? I go to the store.

ANSWER: I WOULD GO TO THE STORE
5B.
What name is given to animals whose diets include plant and animal matter?

ANSWER: OMNIVORE
6A.
What name is given to a line segment whose two endpoints are on a circle?

ANSWER: CHORD
6B.
Of the states in the lower 48 states, which was the last to join the Union, doing so in 1912?

ANSWER: ARIZONA
7A.
Who painted the painting Arrangement In Gray And Black: Portrait of the Painter’s Mother?

ANSWER: James WHISTLER
7B.
Who is the 18th century German philosopher that authored Critique of Pure Reason and Critique of Practical Reason? 

ANSWER: Immanuel KANT 

8A.
At what June 1942 battle did the breaking of the “Purple Code” enable the American fleet to defeat a Japanese opponent twice its size?

ANSWER: MIDWAY
Second period (continued)

8B.
THIS IS A COMPUTATION QUESTION. Raise the imaginary number i to the 25th power.

ANSWER: i (remember that the powers of i cycle I, -1, -I, 1)

9A.
It is defined as 1 candela into a solid angle of 1 steradian. What is this SI unit of luminous flux?

ANSWER: LUMEN
9B.
Johanna Spyri (SHPEE-ree) is a Swiss writer who is best known for writing what novel about a girl who grows up with her grandfather in Switzerland?

ANSWER: HEIDI
10A.
Who wrote the novel, The Strange Case of Dr. Jekyll and Mr. Hyde?

ANSWER: Robert Lewis STEVENSON
10B.
What are the lines that connect points of equal temperature on a weather map called?

ANSWER: ISOTHERMs

Third period: 15 toss-ups

1.
What is the collective name given to malignant disorders of white blood cells, which tend to be progressive and fatal?

ANSWER: LEUKEMIA 

2.
Jamestown and Richmond are two of the cities that have served as Virginia’s permanent, as opposed to emergency, capitols. What city was the other capitol of Virginia? 

ANSWER: WILLIAMSBURG  

3.
He has promised to institute democratic reforms, although on foreign policy, he is likely to maintain the anti-US, anti-NATO policies of his predecessor. It’s hard to blame him for disliking the US and NATO – US and NATO planes bombed his country for six weeks in early 2000. Who is this man that defeated Slobodan Milesovic (mih-leh-SOH-vich) in the recent Yugoslav presidential elections?

ANSWER: Vojislav (voh-yih-SLAV) KOSTUNICA (koh-stoo-NEE-chuh)

4.
In the C programming language, what character is used to represent a logical NOT? 

ANSWER: EXCLAMATION POINT  

5.
What four letter word preceded Fox, Bear and Rabbit in the stories of Joel Chandler Harris, where the Rabbit was often quoted as begging the Fox and Bear “Don’t drop me in that briar patch!”?

ANSWER: BRER

6.
After an accident, Nick Marshall, a chauvinistic executive played by Mel Gibson gets in a relationship with Darcy McGuire, played by Helen Hunt. He is helped in this endeavor by being able to listen to the thoughts of women as if they were spoken out loud. This is the plot outline of what recently released movie? 

ANSWER: WHAT WOMEN WANT 

Third period (continued)

7.
THIS IS A COMPUTATION QUESTION. What is the product of the polynomials 2x plus 3 and 5x minus 2?

ANSWER: 10 X SQUARED PLUS 11 X MINUS 6
8.
He wanders into the Catskill Mountains and finds a group of dwarves playing ninepins. They offer him a drink and he falls asleep. When he returns he finds his nagging wife is dead, his children grown and George Washington’s portrait on the wall instead of King George’s. Who is this man that fell asleep for 20 years?

ANSWER: RIP VAN WINKLE
9.
What is the name given to the arrangement of 60 carbon atoms in the shape of an icosahedron, a structure named for architect R. Buckminster Fuller?

ANSWER: BUCKYBALL or BUCKMINSTERFULLERENE
10.
What was the name given to the small group of informal advisors used by Andrew Jackson, named for the room where Jackson’s political opponents said the group met?

ANSWER: KITCHEN CABINET
11.
What Hemmingway novel deals with the historical battle of Caporetto and the romance between American lieutenant Frederick Henry and English nurse Catherine Barkley?

ANSWER: A FAREWELL TO ARMS
12.
What is the unit of speed equal to the speed of sound called?

ANSWER: MACH (mawk)

13.
What is the practice where a defendant will plead guilty to a lesser crime with the consent of the court and the prosecution, in order to avoid a trial?

ANSWER: PLEA BARGAINING (accept “cop a plea” grudgingly)

Third period (continued)

14.
In 1911, this Russian was the first dancer to play the role of Petrouchka. Who is this Russian ballet dancer retired in 1917 due to schizophrenia?

ANSWER: Vaslav NIJINSKY
15.
THIS IS A COMPUTATION QUESTION. In a given year, shares of common service return a dividend of $1.10 per share, and shares of preferred stock return the guaranteed dividend of 25 cents per share. What is the total amount of dividend for a shareholder who has 2,000 shares of common stock and 1000 shares of common stock?

ANSWER: $2,450 

Spares

The act of beating, punishable by law. An emplacement for one or more pieces of artillery. The pitcher and catcher of a baseball team. What word is used to describe these things?

ANSWER: BATTERY
What is the medical term for high blood pressure?

ANSWER: HYPERTENSION
Fill in the blank in the title of this 1960s cop comedy television show: “Car (BLANK), Where Are You?” 

ANSWER: 54 

Which of Henry VIII’s wives outlived him?

ANSWER: Catherine PARR (prompt on Catherine)

THIS IS A COMPUTATION QUESTION. What is the slope of a line perpendicular to the line represented by the equation y = 2x + 5?

ANSWER: NEGATIVE ONE-HALF
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